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3. Topic: Graphs
MATHEMATICS (H1) 8864/01 | | 3
Paper 1 Suggested Solutions October/November 2010 (i) y = In(2x — 3)= Equation of asymptote: 2x—3 =0 =x =7
Using G. C. (refer to Appendix for detailed steps),
Flotl Flotz Flots
1. Topic: Equations & Inequalities (Quadratic Roots) x$1 BlniZ#-32
wMe=
4 2kx+9 = 0 =
wiy=
For two real distinct roots to exist, discriminant 5> —4ac> 0: ::3 E -
o=
(-2k)*— 4(4)(9) > 0 For two real and distinct roots, o
2 2 discriminant > 0 (no equal sign) TI-84 Plus fx'98 60G
=127 > 0 a=4,b=-2kc=9 ) 5 3
(2k-12)(2k+12) > 0 + ix=Z r=s5
b2 B | 2 y =In(2x — 3) ;
2k+12 < 0 or 2k12 > 0 ¥ ' !
-6 ! N
.. The set of values of k for the equation to havetwo real and distinct roots is i i I|'r 2,0)
{k € R: k<—6 or k>6} ' ]
0 . » x
Note: Final answer expressed in set notation as i 2.0
question asks for set of values of k. !
2. Topic: Integration E
(i) f 1-2xg 1 1 oy i feax+b — leax+b +c !
i e x = —-e c
2 a (i) y = In(2x—23) a
.. 2 _ -3 —_ =]
(i) f—(x+1)3 dx = 2[(x+1)3dx 3_3, . 2 : P In(ax + b) >
_ (x+1D)~2 (ax + p)™*?t * *
= @) —+c f +b)tdx = ————+
. -2 (ax +b)"dx a(n+1) ¢
T Tzt €
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(iii)) When x =3, (ii) Since A AEB is isosceles,
y = In[2(3)—3] = In3 E
. _ 2 _2 !
Gradient of tangent, my = 233 3 Sub x = 3into % :
=Gradient of normal, my=— mi = - % obtained in (ii). |
T |
.. Equation of normal: | ] .
y-In3 = —% (x—3) Equation of straight line with A X M B
2y-2In3 = —3x+9 gradient m passiilg through (x, y1): AM = MB = x(EMLAB) By Pythagoras’
3x+2y = 9+2In3 W = wl ) S \2 5 theorem
EM = (Zx) —x? = x
4. Topic: Differentiation (Maxima & Minima) . Area of the window, 4 = Area of AAEB + Area of rectangleABCD
(i) Given4B = gx m ] - %(Zx) Gx) +(2x) (3 _ %x)
=AE = EAB = ZX m 3 9
. . = =x?+6x —-x?2
Since AigDis e;gactangle, 4 ;) 2 Length of 4D
= = = (6x vy xz) m’(shown) shown in part (i)
=DC = AB = 2x
(iii) 4 is maximum when 2 _0ie
Given total perimeter AEBCDA = 6 m dx e
da 15
AE+EB+BC+CD+ 4D = 6 w675 x=0
4
Sx+3x+24D+2x = 6 x=.m
4 4 2
24D = 6—2x By 2™ derivative test, 27': = —12—5< 0 =A4 is maximumwhen x = g.
AD = (3-2x m (shown) . _ e () 1504
( 4 ) S Amax = 6 (5) 4 (5)

Second Derivative Test:

VI=6R- (154052
= 12 2

Sign of d?y Nature of
- dx? stationary point
Rebaame vz '.". - —_— MR _ Maximum
TI-84 Plus fx-9860G + Minimum
0 Point of inflexion

Check final answer with G. C. (time permitting)
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5. Topic : Applications of Differentiation & Integration
@) Giveny = 6—4x’ — 3x*

dy _ 152 3 2
o 12x"— 12x 12x° (1 +x)

At stationary points, j—z =0
—12x* (14x) = 0

x =0 or x =-1
y=6-4(-1Y-3(-1)"=7

.. Stationary points of curveC are (0, 6) and (-1, 7)

y =26 or

(i1) Using G. C. (refer to Appendix for detailed steps),

Flotl Flotz Flokz
A =
M= Y1
wMr=
wMy=
wMe=
“NE=

TI-84 Plus

Fh Func \'=

E] i
= S [—]

Final answer should be
given in coordinates.

fx-9860G
¥
A

————— r7
— Point of Inflexion

(0, 6)

41(0,6)

4
e

72/ 0.956\
!
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(ii1) Using G. C. (refer to Appendix for detailed steps),

ek |I T
n=-1.7z2z782 Y=o n=.BEEQRANE  Y=i

Y1=6—-4X"3-38"4

T FRoOT T T
i=0.95596604E1 V=0

fx-9860G
..x-coordinates are —1.72 (2d.p.) and 0.96 (2d.p.)

i T
i=-1.123192185 =0

(iv) (6 —4x® —3xH)dx = 6x—x4—§x5+c

1
o Area = [2 (6 —4x® —3x*) dx

1

.

[6x —x* = —xS]2
5 -1

[s() =) 2@~ [se- - vt -few]

51 e 2
9 — unit
160 u s

T =-
SECxIdx=8.3187F II 3?:5;3::15

TI-84 Plus Jx-9860G

Check final answer with G. C. (time permitting)
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6. Topic: Probability (Venn Diagram)
(1) P(both 4 and B occur) =

(ii)) P(at least one of 4 and B occurs) =

(ii1) P (exactly one of 4 and B occurs) =

Venn Diagram (for illustration):

P (4NB)

P (4|B)P(B)
0.2 x0.3
0.06

P (4UB)
P(4)+P(B)-P (4NB)
0.6 +0.3 -0.06

0.84

P (AUB) — P (ANB)
0.84-0.06

0.78

P (ANB)

PUB) ==

P)=06PUNBN\p 5y —03
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Topic: Probability (Probability Tree)

First attempt  Second attempt
07 Pass
09 Pass
1-0.7=03  Fail
1-0.9=0.1 ~ Fail

(1) P (fails at both attempt) = 0.3 x 0.1
= 0.03
(i) P(passes the examination) = 1-0.03 =0.97
P (pass at 2"™attempt) = P(fail on 1 attempt AND pass at 2" attempt)
= 0.3x0.9=0.27

P (pass at second attempt | passes the exam)

=0.7+0.3 x0.9
from tree diagram

__ P(pass at 2nd attempt N passes the exam)

P (A |B) _P(@nB) P(passes the exam)
P (B) _ P(pass at 2nd attempt )
" " p(passes the exam) Pass at 2" attempt
027 C passes the exam
"~ 097
27
Y

(iii) P (two pass at the st attempt and the other passes at 2"attempt)
(0.7 X 0.7) x 0.27 X 3 cases
0.3969

0.397 (3 sig. fig.)

4

3 Possibilities:

Case 1: 19& 2™ students pass at 1*attempt

Case 2: 2& 3" students pass at 1% attempt
Case 3: 3"& 1% students pass at 1% attempt

Z
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8. Topic: Sampling and Hypothesis Testing

(i) To obtain a stratified sample of 60 students, we divide the population
into the following strata: Year One students, Year Two students and
Year Three students.

We then pick random samples of the following sizes within each

stratum:
% X 60 = 28 Year One students Year One:%of el
% X 60 = 18 Year Two students Year Two: % CHPCERLDE
% X 60 = 14 Year Three students . Year Three: % o T

(i1) Stratified sampling provides a more accurate representation of the large
and varied student population, since the amount spent may vary
according to year. As such, stratified sampling allows data for each
year to be examined separately whereas this cannot be achieved with
simple random sampling.

Unbiased estimate of
population mean,

(iii) Given Zx= 10450, Zx?= 2 235 000, n = 50.

. XX
=
Unbiased estimate of £ = i—z = % =209 n
2 o o
Unbiased estimate ofo” = ﬁ [sz - %] Unbiased variance

estimate formulafrom
2
= —[2235000 - 25| [ MELS.
50-1 50
= 10392
49

(iv) 1. By the Central Limit Theorem, we assume that the amount of money
spent by a student, X, is normally distributed, since the sample size is
sufficiently large (n > 50).

2. Sinced?is not given,we assume thatthe value of the unbiased estimate

of ’computed in (iii) is sufficiently close to the actual population
variance.
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Topic: Binomial Distribution&ItsNormal Approximation

(i) Let X be the random variable for the number of germinating sunflower seeds
out of 8 sown, where

X~B (8,0.7)

Binomial Distribution:
X~ B (n, p) where n=no. of trials = 8
p = probability of success
= 0.7 (given)

Using G. C. (refer to Appendix for detailed steps),

e S
' P Bl e || RLe 2herses
ﬁumtr‘ialia
E :
TI-84 Plus [x-9860G
P (X=6) = 0.29647 ~ 0.296 (3 sig.fig) G. C.’s binomial

probability (PD)
function is used.

(ii) P(X=>6) 1-PX<5)
Using G. C. to calculateP (X < 5) (refer to Appendix for detailed steps),

binomcdf (2. 8,7.5
-44B82261914)  [Flpgmial : géEiable B adi0e15
ﬁumtrialES
Eave Res;Hane
TI-84 Plus [x-9860G

ZP(X>6) = 1-0.44823 = 0.55177 ~ 0.552 (3 sig.fig)

G. C.’s binomial
cumulative probability
(CD) function is used.
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Let Y be the random variable for the number of germinating sunflower seeds out
of 60 sown, where ¥ ~B (60, 0.7).

Since n=60> 50 and p = 0.7,

np = 60x0.7 42 > 5

nq 60 x (1-0.7) 18 > 5
Sincenp>5 and ng> 5, we use a normal distribution to approximate the binomial
distribution with

EX) =np = 42 When 7 is large and np>
Var(Y) = npg = 60x0.7x0.3 = 12.6 5 and ng> 5,

X~N(n, p) = N(np, npq)

= Y ~ N(42, 12.6) approximately
P(Y<40) —> P(¥< 39.5) by continuity correction.

Using G. C. (refer to Appendix for detailed steps),

g?rma%chi'599=3

22, JO12. 62 - ey Hormal .0
245245394 Hormal L ras py =@, 24R52447
Orepar  :I9.5 zilow=-2. 81 Te+3E

E§.54964?86 z:0p =-B.7842952
143

P H
Save RestHone

TI-84 Plus fx-9860G
~P(Y<40)= P (Y <39.5)by Continuity Correction
= 0.24062

~ 0.241(3sig.fig) Approximating a discrete distribution

with a continuous distribution by
Continuity Correction:

C.C

‘ : Q

39.5 40 405

v
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10. Topic: Hypothesis Testing

Let the random variable X be the mass of a components (in grams), and x the
mean mass, where X~ N (15, 1.2%).

For a random sample of 80 components, X~N (15' %)

Totest H,:z = 15 against
Testing for change in

H; :u # 15 at 5% of significance
1= Two-tailed test

Reject H, if p-value < 0.05.
Applying z-test with X = 15.25, n = 80, o= 1.2 using G. C. (refer to Appendix for
detailed steps),

£-Test £
InFt:iData EHEIE
roilS

1.2
15.23
[=15]

nn
b

2931
292

= ol
P Jb-J0
CNfaio
]
=] o0

a
H

InmimmnH-
(i oL S 1]

SIHEITHTE
Tl fun]

g
T LN T |
Calculate Oraw | A

TI-84 Plus 2.5% 2.5%

= 1-Samrle ZTest
1-Sanrle ~Test L1

=1.56330995
=0, BEZ4ETS1 Accept Hy
=15.25

SHITHT

=588 z=1,B63Y4 P=.062Y

1x-9860G
From GC, thep-value = 0.0624> 0.05, we do not reject H,,.

Hence, there is insufficient evidence at the 5% significance level to conclude
that the mean mass of the components is not 15 grams.

Unauthorized copying, resale or distribution prohibited. ﬁ 6
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Testing for decrease in u
_ 1.22 i.e. Hy: u <15, the critical
Under Ho, X~N (15' W) region is in the lower tail of the
To test H, :p = 15 against distribution = left-tailed test
H, :x < 15 at 5% of significance
Reject H, if z-value <z os.

5%

v

To obtain z o5, the critical value of z at 5%,

Using G. C. (refer to Appendix for detailed steps),

invMHormo . B85, H. 10
-1. 644853626 Tryerse Toraal Trverse Morgal
Area PH.ES
) H
I H
Save ResiHone
TI-84 Plus Jx-9860G

Z0.05 — —1.64485

For H, to be rejected at 5% level of significance, test statistic

f-p  %-15
Z = "% = 71z < Zoos
Vvn V8o
x—15
7 < —1.645
V80
x < 14.779
% < 14.8 grams Note: Final answer expressed in

set notation as question asks for

~.Set of values: {x eR": X < 14.78} et o vailies
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11. Topic: Correlation and Regression

(a) (i) Product moment correlation ¥
coefficient=0 \
=the eight points are 1
randomly distributed X
with little or no pattern. X X

(i) Product moment correlation
coefficient ~—0.8
=the eight points lie
moderately close to a
straight line with negative
gradient. X

v
=

(b) (i) Using G. C. (refer to Appendix for detailed steps),

L1 Lz |L3 Z
%E ? ------ List | [List 2 List 3| List U
%% %EE i T 255
3E .76 2 2.5
HE E4E 3 2.85
Lt B.2E 4 3.15
Lzih=2,55 i
TI-84 Plus Jx-9860G
Z_
Unauthorized copying, resale or distribution prohibited. {ﬁ{
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y? X

xX et e e e e

(i1) Using G. C. (refer to Appendix for detailed steps),

inke9
”Zai‘529341453 Linearkes ozaia
=. 56151 FAT S g 8-
ris S7dcsoaris || ¢ S8i3ee2a
r=. 3872933317 Hoe=0. BEa5551 2
w=azx+h
COFY
TI-84 Plus [x-9860G

r = 0.98729 = 0.987 (3 sig.fig)

12. Topic: Normal Distribution

Joss Sticks

N
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(i) Let U be the random variable for the mass of an unwrapped sweet, where

U ~ N (40, 3%
Using G. C. (refer to Appendix for steps to access the normal distribution
functions),
normalcdf? -39, 3
B A8 32 Hormal .0 Hormal .0
-B912112813 Dwer E-1e+99 P EE1 21121
UrFer ziLow=-3.333e+98
zilr =-1.3333333
TI-84 Plus [x-9860G

P(U<36) = 0.091211~ 0.0912 (3 sig.fig)

(i1) Let W be the random variable for the mass of a wrapper, where

W~ N (4,

0.5

Let S be the random variable for the mass of a wrapped sweet.

Remember to square E(S) = E(U) +EW)
the standard deviations
(iii) Sub values of a and b obtained by G.C. in part (ii) into m and ¢ ¥ @allltng it Var(S) = Var(U) + Var(W)
respectively =y = 0.1069x + 0.5615 variance! ~S ~ N(44,9.25)

(iv) Whenx =40, y = 0.1069(40) + 0.5615 = 4.8375~ 4.84 (3 sig. fig.)
.. .. Estimated monthly earnings of a 40-year-old worker is $4840.
Note: y is in
thousand dollars! Since x = 40 is within the range of given data values [18, 55], the
estimate is reliable as we are interpolating within the data range.

(v) m will remain the same and the
constant ¢ becomes (¢ + N).

3 For tuition, exam papers & Last-Minute Buddha Foot Hugging Syndrome treatment

Using G. C. (refer to Appendix for

steps to access the normal distribution

40+4 = 44
324+0.57= 9.25

If X~N(uy, 0x?) and Y ~N(uy, 0y?) are
two independent normal distributions,

functions), X + Y~N(uy + py, 0x% + 0v2)
hnrmalc%g§42=46=
- 4892023398 Pammal Bids B aganano
UFrFer HE T ZiLow=-H,6575959
13,84138126 | |ziUe =0, E5T53534
TI-84 Plus fx-9860G

P(42 <5< 46)=0.48920~0.489 (3 sig.fig)
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+

(iii) Let C be the random variable for the mass of an empty cardboard tube,
where C~ N(50, 57).
Let 7 be the random variable for the total mass of a tube containing 12
wrapped sweets.

_ If X, X5, X5, ....X, are n
T=S8,+8,+...+S,+C llo % 2% "

! 2 12 independent observations of the
E(T) = E(S1+ S2+ ... +512) + E(O) normal variable X where X ~ N(z,

= 12E(S) + E(C) o),
= 12 x 44+50=578 X+ Xo+ X5+ ...+ X, ~ N(ny, no’)

Var(T) = Var($1+ 52+ ... +512) + Var(C) N.B. n is NOT squared for the
= 12Var(S) + Var(C) variance! This is different from

= 12%925+5°=136 i Wit e
T ~ N(578, 136)

Using G. C. (refer to Appendix for steps to access the normal distribution

functions),
normalcdi CEEE, D
F.578. 013602
236147861 =T B hbae 1 4ns
s 1E+29 zilow=1.35545444
o t11.6819037 | |z:lF =5.574%6+57
EIEEU EE
TI1-84 Plus [x-9860G

« P (T> 600)=0.029614 ~0.0296 (3 sig.fig)

(iv) Let Y be the random variable for the total mass of a tube containing 12
wrapped sweets produced by the rival company,where Y~ N(z, o%).

Given P (Y<450) = 0.05  and P (Y>550) = 0.08

450—u
o

P(Z< ) = 0.05 P(z> 55"“‘) = 0.08

g
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Using G. C. (refer to Appendix for detailed steps),

invHormiB., B
-1. 644853626
Irverse Mormal Inverse MHormal
Tail iLeft x=-1.6448535
Area tE. 85
d il
TI-84 Plus fx-9860G
inuHormiE., 920
1.4856871561
Irverse Mormal Inverse Hormal
Tail tRight x=1,4838T156
Area 5]
d
TI-84 Plus fx-9860G
R = 164485 28 = 140507
u = 450 +1.644850... (1) 550-u = 1.405070... (2)
Sub (1) into (2): 550 — 450 —1.644850 = 1.405076

= = 1075.0~1080
= u = 503.9309~504

~Mean = 504 and variance =~ 1080 (3 sig.fig)

o = 32.7877
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Appendix: Detailed G. C. Steps (for those still trapped in G. C. limbo)

Q3 (i), 5 (ii): Graph Sketching

AL scI ENG
TI-84 Plus @ FLORTIREEER L AL
TR DEGREE

— Ensure G. C. is in |ASKN[@® mode.

a+bi  FetBi
HORIZ G-T
ZETCLOCKLI:Fe V- gl |

Flotl Flokz Flok®
[ v= ] (winoow] [ GraeH ) WHBLRCZH-3) || kminee
“Ne= Amax=10A
“Na= Ascl=1
“y= Ymin=-2
“He= “max=d4
M= Yecl=1 I|Ir
3(i) “Ma= Hres=1
Flotl Fletz Flot= WIHOOL
Ny =6 -F fmin= -3
M= Amax=2
W= nacl=1
WMy= Ymin=-2
M= “Yrmax=g
WME= Yacl=1
5(11) wres=1 II ll

fx-9860G

3(31) [SHIFT] 4 [EXIT] [F6]

lsrarh Func_ Y= [\

Y1B86-4X~3-3%"4 [—]

va: [—]

¥o: [—1J
hi-H [—1]
|[SEC [ [T S AYEP Orat| [
5(ii) [SHIFT] * [EXIT] [F6]
Q5 (iii): Finding the Roots of a Function
n For tuition, exam papers & Last-Minute Buddha Foot Hugging Syndrome freatment ' Unauthorized copying, resale or distribution prohibited. ¢ m X
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TI-84 Plus Method I: Using Zero Values of Graphs

ED e ( 2

— Define approximate left/right bounds of value for 1% root.

—> Repeat steps for 2™ root.

N
WWW.Exampaper.com.sg

Flotl Flotz_ Flots F;]!!EE}]I:
W =E—di =3 :ualue
“Ne= Zero
W= fmindmum
“My= 5 mas i muem
“e= E: éHEEFSEC—t
= g
e L] R rtiemz ve I| ﬁgrsosséssus Y=i
Note: This is the preferred method for Q5(iii) since we are already in Graphing mode having just
sketched C in part (ii).

Method II: Using Solver

MATH
— Enter Solver (last item on MATH menu)
— Enter equation.

— Enter an approximate value of x (i.e. x = —1.5) for 1%root.
—> Enter an approximate value of x (i.e. x = 1) for 2™ root.

e JCIE)

x MUM CFs FEE| ERUATION SOLVER

ine ey s B=6—4 " 3-FH"™

RALEER 40

S nberiue

S frlntc

H: summat.ion ¢

H: 1>9BASE

EHSoluver..

6 4H“3 3H“4 5] 6—4x"3-35"4=8 6 4 E-3R"4=A E—d € 3-3x" 4=
m=-1,F2IFIZ2185.. =11 = H=, 95595 EE4 212,

baund { 199,1..|| bound=£-195,1.. baund L1291 || bound=L-1e99.1..
s ]left—rt=A w ]left—rt=A

Method III: Using Poly Root Finder Application

FOLY ROOT FINDER HODE
ORDER 1 zzQFerBI10

=y x4+, a1 tan=H
ay=-

i E lLnance.. FHFOLY ROOT FINDEFR

FiConics z: SIHULT EQN SOLVER neal EEDH  eetlai az=-4
w ZiCt1aHelF = REOUT DEC] rhat ' a3z =M
4 : Inesualz y: FOLY HELF [TELEM scI ERG a1 =[
PluSmlt2 E: STHULT HELF @A ©v1:z:4567809 || ao=cl
— Enter PlySmlit2 tTransfirm B QUIT FOLYSHLT RROIAN [ETES
=y =+ +ad x+an=H 4
#B-1. 723732185
®r=m, 20275593,
®r= -, 282723598,
®y =, 3009558481
(HATENHODENCOEFNZT01 |
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(=1 Sticl
MathematiCS H1 (8864/01) version 2.1 FE

.exampaper.com.sg

i

Jx-9860G Find Roots in Graph raeh Func_ 1v= VT=6-4% 33374 VT=6-4% 33374
y STnT Ie m:r Is SHT I Y1B6-4X 3-3X"4 [—]
GRAF} D"rﬂﬁ |TasLE |RECUR | : \
: T RooT T RooT
B >=< [0 [ [FERG [Fr [TSEr [5 | fis- 1123782185 =0 ' =0, 9559660481 =0

4 54

Q9 (i): Binomial Distribution (Computing Probability)

ORAL inompdf (S, B8, 7.6
TI-84 Plus m YARS D MATH cdf'y - 29547548
F" -‘-"{:Pdf“ 4
— Key in the parameters. E }F{PEFE‘
BFcdfd
b iramedf ©
b inomcdf ©
fx_98606 77 A i_;T I List ) JList 2] L I List | JList 2] Lise 3]st u A List 1]uise 2luist 3|List u 1n<:vm1.812964?543
Q9 (ii): Binomial Distribution (Computing Cumulative Probability)
DRAL birnomcdf (2. 8.7.5
TI-84 Plus m vars JAEBHRT] ares g 2
?EHEF‘E{F': 4482751914
— Key in the parameters. E ;Fﬁgf;t
Bz Fodf
H: binomPdf
i nomcdf ©
fx_98606 "3'2", Tﬁﬂu -:rssu: List 1] List 2 List | |uist 2]t 3fuist u List 1 Juist 2]t 3fuse u Déegmaliﬁégiable 1n<:vm1.gl44’322619
+- < A é gl H
GRAFH |DYNA |TAELE |[RECUR Numtrial:g
m’?‘yémﬁﬂ# v ——
4 )
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MathematiCS H1 (8864/01) version 2.1 SﬁCkS

.exampaper.com.sg

i

Q9, Q12(i), (ii), (iii): Normal Distribution

normalcdiC -E99. 3
TI-84 Plus m VARS @ peue OeAl 9.5, 42; 1012, 63
hormalcdf < 24BE24 53994
— Key in the relevant parameters. Results shown 4 %Eﬁ?%‘r‘”(
are for Q9 SibEdf e
G todf
FiHEpdf
fx_98606 u_u-m T;ﬂﬂﬂ List 1]use 2] List 1]use 2luist 3]st u e List 1]use 2luist 3]st u Egzggl CE[-)1£+99 Eorma-ac22l36244?
plby |7 é gl I Upper  :39.5 z:Low=-2.817E+98
GRAFH [DYHA |TABLE [RECUR g’ 1 E§é54964?96 z:Up =-8. 7842952
_.EI_A._EL@Q : :

Hed [Hed [Tnun

Q10, Q12 (iv): Finding z-value

ORAL [inv ol irwHormC 858,12
TI-84 Plus m WARS @ fhormalFdf areaid. @35 -1, 644853526
2 normalcdf Kid
. . .. .. invHorme ol
— Key in the desired probability /level of significance. Results shown are 2 +1, nEIE Faste
LR
for Q10 62 todf
TLREpdf
fx_98606 uu-m Ti.ﬂ“ -:rsSllt List ) JList 2] L List | JList 2] Lise 3]st u o List | JList 2] Lise 3]st u %2‘{?"59 ?EE’??I Inve;§?1?25r4n§%36
by |7 é gl ;’ gr‘ea ? .85
SRAFH [0YHA Tasl.s RECUR :
é é A ﬁé 3 I :
[CORICS [EEUA PRGM TUM 4 Save Res:None
Hed [Hed [Tnwn CALC
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MathematiCS H1 (8864/01) version 2.1

Q10: Hypothesis Testing (z-Test with Data Summary)

TI-84 Plus [

Joss Sticks

WWW.exampaper.com.sg

fx-9860G

EOIT CALC pis=yEs -Test
] [ 1 ] e—Test.. InFti0ata EHELE
iT-Test.. ro:lsS
. Ji2-Samrilest gil.?
— Select FYPYR input method. 415 SampTTest. || #:15.25
. . . S:l-ProrZTest.. ri: 2E
— Enter the population/sample mean, \/(Varlance), sample size. & 2-PropsTest u:q{m “po e
. FiZInterual.. Calculate DOraw
—Select p: for two-tailed test.
— Select [@EIMIELE for results in summary view. ;l?gt
. ; ; ; z=1.863389321
— Select for results in graphical view. R Ay P
#¥=15.25
a z=1BE3  le=.iEzy
uu-m TEE,}“ ncr ssu: e List 1 LSt 2Lt 3ust o e List 1 LSt 2Lt 3ust o e List 1 LSt 2] List 3ust u
BT e | ; ;
GRAFH |[DYHA |TARELE |[RECUR
_A,A_JL@Q : : :
FZ 1% Jendwamm = = GF [FF L5t [U5F

*

CALC

DRAL

CALC

1-Sample Zlest 1-Sample Zlesl 1-Sample Zlest
8 £15 NERS #15 (] £15 T
d 11,2 z =1.86338998 d 11,2
x 115,25 P =0,86248741 x 115,25
t50 % =15.25 t50
Saue Res:None n =20 Saue Res:None

DRAL

[+

=0. 0624074185

*

Results (summary view)
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Results (graphical view)
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Q11 (b)(i): Plotting Scatter Diagram

TI-84 Plus (5yns ?ﬁi%ﬁm TESTS
FSortAC

385
— Enter xandy values in L1 and L2 diClrList
respectively 985

WWW.exampaper.com.sg

m (v= ] [enTer] mr

2
— Turn On Plotl z

MEMORY
@ %Ecimal : "
I 2Seuare o

=
&1 25t andard o
riZTrig -
2! Zlnteger a
ZoomStat. " go®
s ZoomFit A reee sers s s seess e s s

fx-9860G

List 1]uise 2luist 3|List u List 1]uise 2luist 3|List u

Al
I s __wr eACT |S-SHT " s
A :J [ 8] 2.55 [
GRRPH YA Tam.s RECUR 2 20| 2.55 2
é é d ﬁé 3 22| 2.85 3
u 2 3.8 u
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Q11 (b)(ii): Finding Correlation Coefficient

TI-84 Plus Ay CHTALOG @A 0iagnosticOn
- Dedree Oone
DelWar

DerendAsk

(enTer ) (enTer DerendAiuto
Dizagnosticff

r0izgnosticln

Note: The r value will not appear if you miss
this step!

EDIT TESTS |Linked
STAT [ ) ] [ 4 J 1:1-Yar Stats u=axth
2i2=-Uar Stats a=, 18693414563
. . ZiMed-Med b=.551517E732
Note: L1 contains the values of x (independent | SHL i nRe9C g+ Fi=. 974 7SZETIS
variable) and L2 the values of y (dependent E Eﬂg?ﬁﬁgg F=.98FER3331Y
variable) as populated in 11(b)(i). TlEauartREea
fx-9860G e List 1] List 2] List 3| Lst o " List 1] List 2] List 3| Lst o e List 1] List 2] List 3| Lst o nga;%n'??asgs‘uq
| 18] 2.55 | 18] 2.55 | 18] 2.55 b =8.56151747
2 20| 2.55 2 20| 2.55 2 20| 2.55 r_=0.98729533
3 22| 2.85 3 22| 2.85 3 22| 2.85 r2=Q,97475207
u 21 3.15 u 21 3.15 u 21 3.15 y=§§$;a.66939212
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